## Format for Advertisement in Website

## Notice for appointment of Regular / Rural Retail Outlet Dealerships

Indian Oil Corporation Limited (MD) proposes to appoint Retail Outlet dealers in Uttarakhand, as per following details:

			Type of RO	Estim ated mont hly Sales Pote ntial #	Categ ory	Type of Site*		m Dime )/Area d n Sq. M	of the	arrange applicar	e to be d by the nt (Rs in khs)	Mode of Selection		
SI. No	Name of location	Revenue District	Regular / Rural	MS+H SD in Kls	SC/SC CC 1/SC PH/ST/ ST CC 1/ST PH/OB C/OBC CC 1/OBC PH/OP EN/OP EN/OP EN CC 1/OPE N CC 2/OPE N PH	CC / DC / CFS	Fronta ge	Dept h	Area	Estimated working capital requireme nt for operation of RO	Estimated fund required for developm ent of infrastruct ure at RO	Draw of Lots / Bidding	Fixed Fee / Minimu m Bid amount (Rs in Lakhs)	Securit y Deposi t (Rs in Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
1	BADKOT WITHIN MUNICIPAL LIMIT ON NH-507	UTTARKASHI	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
2	WITHIN 5 KM FROM CLOCK TOWER TOWARDS MUSSOORIE ON RHS ON RAJPUR ROAD	DEHRADUN	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
3	BETWEEN CLOCK TOWER AND KISHAN NAGAR CHOWK ON CHAKRATA ROAD, DEHRADUN	DEHRADUN	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
4	FROM BALLIWALA CHOWK TO SAHARANPUR CHOWK ON KAWALI ROAD, DEHRADUN	DEHRADUN	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
5	VILLAGE KHERA MAJOG, BHATGADI NEAR TYUNI ON JAGADRI-PONTA-ROHRU HIGHWAY	DEHRADUN	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
6	BETWEEN KM MILE STONE 04 TO 06 ON NH-507 WITHIN VIKASNAGAR MUNICIPLALITY LIMIT	DEHRADUN	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
7	BETWEEN KM STONE 32 TO 35 ON NH-109	NAINITAL	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
8	BETWEEN KM STONE 84 TO 89 ON NH-109	ALMORA	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
9	BETWEEN KM STONE 140 TO 150 ON NH-125(NEW NH-09)	CHAMPAWA T	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
10	VILLAGE- BIDAURA, POST NANANKMATTA ON NH-125	UDHAM SINGH NAGAR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
11	DESHRAKSHAK TIRAHA TO ITI COLLEGE, HARIDWAR ON NH-334 A	HARIDWAR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
12	BETWEEN KM STONE 25 TO 29 ON NH-74	HARIDWAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
13	BETWEEN VILLAGE - UDALHEDI AND VILLAGE -LEHBOLI ON SH - 29	HARIDWAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
14	WITHIN 3 KM FROM MANGLORE GUDMANDI MAIN GATE TOWARDS GURUKUL NARSAN ON NH-334	HARIDWAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
15	BETWEEN LALPUR TO KISHANPUR, KICHCHA ON NH- 09(RHS)	UDHAM SINGH NAGAR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
16	BETWEEN KM STONE 0 TO 5 KM ON SH-38 (BHOWALI TO RAMGARH ROAD)	NAINITAL	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
17	BETWEEN KM STONE 49 AND 54 ON SH-61	NAINITAL	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
18	BETWEEN KM STONE 28 AND 31 ON SH 26 ON LAKSAR-BALAWALI ROAD	HARIDWAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3

19	BETWEEN KM STONE 8 TO 11 ON SH-27	HARIDWAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
20	BETWEEN KM STONE 25 TO KM STONE 30 ON SH-27	HARIDWAR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
21	BETWEEN KM STONE 3 TO KM STONE 6 ON SH-28	HARIDWAR	REGULAR	100	ОВС	DC	35	35	1225	25	60	Draw of Lots	15	4
22	BETWEEN KM STONE 13 TO 16 ON SH-27	HARIDWAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
23	WITHIN 5 KMS FROM VINAYAK DHAR TIRAHA TOWARDS GOPESHWAR ON SH-35 (RUDRAPRAYAG-POKHARI- GOPESHWAR MOTOR MARG)	CHAMOLI	REGULAR	100	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
24	BETWEEN KM STONE 126 TO 131 ON SH-11 (GWALDAM - KARNPRAYAG MARG)	CHAMOLI	REGULAR	100	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
25	WITHIN 5 KM FROM SILKYARA BEND TOWARDS DHARASU BEND ON NH-134	UTTARKASHI	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
26	ROSHNABAD JAWAHAR NAYODAYA VIDYALAYA TO HARNAUL RIVER BRIDGE ON SH- 27 ( ROSHNABAD-BIHARIGARH ROAD)	HARIDWAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
27	BETWEEN KM STONE NO 10 & 14 ON SH-39	ALMORA	REGULAR	100	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
28	BETWEEN KM MILE STONE 61 AND 72 ON SH-11	BAGESHWA R	REGULAR	100	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
29	SUBASH ROAD, DEHRADUN CITY	DEHRADUN	REGULAR	150	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
30	BETWEEN KM STONE 218 TO 223 ON NH-109 (OLD NH-87 E)	CHAMOLI	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
31	VILLAGE-SARASARIYA POST NANANKMATTA ON NH-125	UDHAM SINGH NAGAR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
32	BETWEEN KM STONE 14 AND 19 ON NH-134	UTTARKASHI	REGULAR	150	ОВС	DC	20	20	400	25	75	Draw of Lots	15	4
33	WITH IN 3 KM FROM DOUBLE RLY PHATAK TOWARDS LAKSAR ON LANDHORA-LAKSHAR ROAD ON SH-26	HARIDWAR	REGULAR	100	Open CC 1	DC	35	35	1225	25	60	Draw of Lots	15	5
34	BETWEEN KM STONE 00 TO 03 ON SH-23	DEHRADUN	REGULAR	100	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
35	BETWEEN KM STONE 23 AND 27 ON SH-14	ALMORA	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
36	BETWEEN KM STONE 77 TO 80 ON NH 507 [OLD NH-123]	UTTARKASHI	REGULAR	150	ОВС	DC	20	20	400	25	75	Draw of Lots	15	4
37	BETWEEN KM STONE 08 TO 13 ON SH-24	DEHRADUN	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
38	BETWEEN VILLAGE TOLI CHUFAL TO OGLA TOWN ON NH-09	PITHORAGA RH	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
39	BETWEEN KM STONE 53 AND 58 ON SH-11	BAGESHWA R	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
40	BETWEEN KM STONE 46 TO 52 ON OLD NH -119 (NEW NH-534), SATPULI- MALETHI-KOTDWAR- PAURI ROAD	PAURI GARHWAL	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
41	FROM KHURPIYA FARM TO SHAKTI PEETH KALI MANDIR TOWARDS ADITYA CHOWK ON SH-44 (KICCHA BYPASS ROAD)	UDHAM SINGH NAGAR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
42	BETWEEN KM STONE 19 TO KM STONE 22 ON SH-68	HARIDWAR	REGULAR	100	Open CC 2	DC	35	35	1225	25	60	Draw of Lots	15	5
43	BETWEEN KM MILE STONE 9 TO 12 ON SH-10 ON LEFT HAND SIDE	NAINITAL	REGULAR	100	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
44	BETWEEN KM STONE 0 AND 23 ON SH 41	NAINITAL	REGULAR	100	SC CC	CFS	35	35	1225	0	0	Draw of Lots	0	3
45	FROM KM STONE 0 TO KM STONE 4 ON SH-45 ( ON KASHIPUR- THAKURDWARA ROAD)	UDHAM SINGH NAGAR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
46	FROM KM STONE 0 TO KM STONE 7 ON SH-61	UDHAM SINGH NAGAR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
47	BETWEEN MILE STONE 3 TO 5 ON NH-125	UDHAM SINGH NAGAR	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
48	BETWEEN KM STONE NO 38 AND 41 ON SH 11	PITHORAGA RH	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
49	WITHIN 1 KM FROM GMS ROAD- SHIMLA BYEPASS CROSSING TOWARDS BALLIWALA CHOWK ON RHS ON GMS ROAD	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
50	FROM CHANDRABANI CHOWK TO DATKALI TEMPLE ON NH-307 ON LHS	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5

No.   Control   Control															
Description   Company Conference   Company Conference   Company Conference   Company Conference   Company Conference   C	51	CANAL BRIDGE TOWARDS RAWALI MEHDOOD ON BHADRABAD -BHEL GATE NO. 6 TIRAHA -RAWALI MEHDOOD	HARIDWAR	REGULAR	100	ОВС	DC	20	20	400	25	45		15	4
15   STATEMENT OF THE PROPERTY OF THE PROPER	52	BETWEEN SHIMLA BYEPASS CHOWK TO ARCADIA GRANT ON	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	60		15	5
BETWEEN SALEMAN COMMON CONTROL OF SALEMAN STATES   STATES SALEMAN CONTROL OF SALEMAN	53	VILLAGE: TAPERA ON NH-125,	SINGH	REGULAR	150	ST	CFS	35	45	1575	0	0		0	3
Secrept Control Standard American Academy Secretary Secretary Control Standard American Academy Secretary Control Standard American Academy Secretary Control Standard Control Standard Control Standard Control Standard Control Standard Control Standard C	54	HOTEL KAMLA PALACE ON GMS		REGULAR	150	OPEN	DC	20	20	400	25	75		15	5
55   RETWINSTRONOMO GRATE   CHAMING UN REGULAR   150   CCT   CCT	55	CHOWK TOWARDS PANIYALA IN	HARIDWAR	REGULAR	100	ОВС	DC	20	20	400	25	45		15	4
15	56	BETWEEN GOVIND GHAT &	CHAMOLI	REGULAR	150		DC	20	20	400	25	75		15	5
Section   Continue	57		SINGH	REGULAR	100	SC	CFS	35	35	1225	0	0		0	3
Set   Alama Canter Remark   Color	58		SINGH	REGULAR	100	ОВС	DC	35	35	1225	25	45		15	4
DITEMPTION   DIT	59	AJANTA CONTINENTAL TO BALASUNDARI TEMPLE AT LHS	DEHRADUN	REGULAR	180	OPEN	DC	20	20	400	25	60		15	5
61	60	DEHRADUN.	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	60		15	5
September   Sept	61	NH-107 (A) TOWARDS		REGULAR	150	ОВС	DC	20	20	400	25	75		15	4
63   130 ON LIS ON NH-07 OLD NH-   DEHRADUN   REGULAR   150   OPEN   DC   35   45   1575   25   75   Draw of   Lots   15   5   5   ON NH-72 AT LIS   S   OPEN LIS ON NH-72   OPEN	62	BEND ON NH-34 OR NH-134	UTTARKASHI	REGULAR	150	sc	CFS	20	20	400	0	0		0	3
64 ON NH-72 AT LHS   ON NH-7	63	110 ON LHS ON NH-07 OLD NH-	DEHRADUN	REGULAR	150	OPEN	DC	35	45	1575	25	75		15	5
65 CHUTMALPUR BY PASS ROAD   HARIDWAR REGULAR   150   OBC   DC   35   45   1575   25   75   Draw of Lots   15   4	64	ON NH-72 AT LHS	DEHRADUN	REGULAR	150	OPEN	DC	35	45	1575	25	75		15	5
66   CHOWKT D DATKALI TEMPLE ON   DEHRADUN   REGULAR   150   SC   CFS   20   20   400   0   0   Draw of Lots   0   3	65	CHUTMALPUR BYE PASS ROAD ON NH-307	HARIDWAR	REGULAR	150	ОВС	DC	35	45	1575	25	75		15	4
66   PHARMAM MAIN CATE TOWARDS   MARIDWAR   REGULAR   150   OPEN   DC   35   45   1575   25   75   Draw of Lots   15   5	66	CHOWK TO DATKALI TEMPLE ON NH-307 ON RHS	DEHRADUN	REGULAR	150	SC	CFS	20	20	400	0	0		0	3
ELMITS ON DOON UNIVERSITY   DEHRADUN   REGULAR   150   OPEN   DC   20   20   400   25   60   Draw of Lots   15   5   5	67	PHARMA MAIN GATE TOWARDS	HARIDWAR	REGULAR	150	OPEN	DC	35	45	1575	25	75		15	5
CHOWKI AND PREMNAGAR CHOWK ON CHARRATA ROAD ON NH-123   UTHARKASHI REGULAR   150   OBC   PH   DC   20   20   400   25   75   Draw of   Lots   15   4	68	LIMITS ON DOON UNIVERSITY	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	60		15	5
70   VILLAGE-DOBATA ON NH-123   UTTARKASHI   REGULAR   150   OPEN   DC   35   35   1225   25   75   Draw of Lots   15   5	69	CHOWKI AND PREMNAGAR CHOWK ON CHAKRATA ROAD ON	DEHRADUN	REGULAR	150		DC	20	20	400	25	75		15	4
NH-507.   DEHRADUN   REGULAR   150   OPEN   DC   35   35   1225   25   75   Lots   15   5	70		UTTARKASHI	REGULAR	150	SC PH	CFS	20	20	400	0	0	Lots	0	3
ACADEMY AND RIMC MAIN GATE ON SAHEED KASMIR SINGH REGULAR   150   OPEN   DC   20   20   400   25   60   Draw of Lots   15   5	71	NH-507.	DEHRADUN	REGULAR	150	OPEN	DC	35	35	1225	25	75		15	5
Table   Tabl	72	ACADEMY AND RIMC MAIN GATE ON SAHEED KASMIR SINGH	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	60		15	5
WITHIN 6 KM FROM HERBETPUR CHOWK TOWARDS SELAQUI ON REGULAR   150   OPEN   DC   20   20   400   25   60   Draw of Lots   15   5	73	BETWEEN OLD IIM KASHIPUR GATE TO CHAITI CHAURAHA ON	SINGH	REGULAR	150	ОВС	DC	35	45	1575	25	75		15	4
T5	74	WITHIN 6 KM FROM HERBETPUR CHOWK TOWARDS SELAQUI ON		REGULAR	150	OPEN	DC	20	20	400	25	60		15	5
AT LHS ON NH-707 A   DEHRADUN   REGULAR   150   OPEN   DC   20   20   400   25   75   Lots   15   5	75	KM STONE 60 TO KM STONE 80 ON NH-34	UTTARKASHI	REGULAR	150	SC	CFS	20	20	400	0	0	Lots	0	3
REGULAR   150   OBC   DC   20   20   400   25   75   Draw of Lots   15   4	76		DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	75		15	5
78         DHARMAWALA CHOWK TOWARDS PONTA SAHIB ON NH-7 [OLD NH 72]         DEHRADUN         REGULAR         150         OPEN         DC         35         35         1225         25         75         Draw of Lots         15         5           79         BETWEEN KM STONE 64 TO 68 ON NH-109         ALMORA         REGULAR         150         ST         CFS         20         20         400         0         0         Draw of Lots         0         3           80         BETWEEN RUDRAPRAYAG & TILWARA ON NH-107         REGULAR         150         OBC         DC         20         20         400         25         75         Draw of Lots         15         4           81         BETWEEN KARNPRAYAG & SIMLI         CHAMOLI         REGULAR         150         OPEN         DC         20         20         400         25         75         Draw of Lots         15         5	77	BETWEEN TILWARA & AUGUSTMUNI ON NH-107		REGULAR	150	ОВС	DC	20	20	400	25	75	Draw of	15	4
79         BETWEEN KM STONE 64 TO 68 ON NH-109         ALMORA         REGULAR         150         ST         CFS         20         20         400         0         0         Draw of Lots         0         3           80         BETWEEN RUDRAPRAYAG & TILWARA ON NH-107         REGULAR         150         OBC         DC         20         20         400         25         75         Draw of Lots         15         4           81         BETWEEN KARNPRAYAG & SIMLI         CHAMOLI         REGULAR         150         OPEN         DC         20         20         400         25         75         Draw of Lots         15         5	78	DHARMAWALA CHOWK TOWARDS PONTA SAHIB ON NH-	DEHRADUN	REGULAR	150	OPEN	DC	35	35	1225	25	75		15	5
No.   St.   St.	79	BETWEEN KM STONE 64 TO 68	ALMORA	REGULAR	150	ST	CFS	20	20	400	0	0		0	3
X1	80	TILWARA ON NH-107		REGULAR	150	ОВС	DC	20	20	400	25	75	Lots	15	4
	81		CHAMOLI	REGULAR	150	OPEN	DC	20	20	400	25	75		15	5

	WITHIN 2 KM FITHER CIDE FROM													
82	WITHIN 3 KM EITHER SIDE FROM NARENDRA NAGAR POLICE	TEHRI	REGULAR	150	Open	DC	20	20	400	25	75	Draw of	15	5
	STATION ON NH-34	GARHWAL			CC 1							Lots		
83	WITHIN 4 KM FROM NARSAN BORDER POLICE CHOWKI TOWARDS ROORKEE ON LHS ON NH-334	HARIDWAR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
84	FROM DILARAM CHOWK TO MUSSOORIE DIVERSION ON LHS ON RAJPUR ROAD	DEHRADUN	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
85	BETWEEN KM STONE 450 TO 455	CHAMOLI	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of	15	5
	ON NH-58	UDHAM										Lots		
86	VILLAGE GULARIA, WITHIN BAZPUR WML ON RAMRAJ ROAD	SINGH NAGAR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
87	WITHIN SIDCUL SITARGANJ NOT ON STATE HIGHWAY	UDHAM SINGH NAGAR	REGULAR	110	ОВС	DC	30	30	900	25	45	Draw of Lots	15	4
88	UTTARKASHI WITHIN MUNICIPAL LIMITS	UTTARKASHI	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
89	BETWEEN KM STONE 418 TO 423 ON NH-58	CHAMOLI	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
90	BETWEEN KM STONE 178 TO 185 ON NH-72	DEHRADUN	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
91	BETWEEN PRINCE CHOWK & RACE COURSE CHOWK ON HARIDWAR ROAD, DEHRADUN	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
92	BETWEEN BALLUPUR CHOWK AND KISHAN NAGAR CHOWK ON CHAKRATA ROAD	DEHRADUN	REGULAR	150	OBC CC 1	DC	20	20	400	25	60	Draw of Lots	15	4
93	WITHIN HERBETPUR MUNICIPALITY AREA ON NH-123	DEHRADUN	REGULAR	150	SC CC	CFS	20	20	400	0	0	Draw of Lots	0	3
94	BETWEEN KM STONE 77 AND 85	DEHRADUN	REGULAR	150	Open PH	DC	20	20	400	25	75	Draw of	15	5
95	ON NH 707 A VILLAGE-CHAMI ON NH- 507	UTTARKASHI	REGULAR	150	OBC	DC	20	20	400	25	75	Lots Draw of	15	4
	BETWEEN RACE COURSE CHOWK											Lots Draw of		
96	& ARAGHAR CHOWK ON HARIDWAR ROAD, DEHRADUN FROM HERBERTPUR CHOWK TO	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	60	Lots	15	5
97	DHARMAWALA CHOWK AT LHS ON NH-7 [OLD NH-72] BETWEEN KARGI CHOWK AND	DEHRADUN	REGULAR	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
98	LAL PUL CHOWK ON KARGI PATEL NAGAR BYE PASS ROAD, DEHRADUN	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
99	WITHIN 4 KMS FROM GADARPUR ON GADARPUR-GULARBHOJ ROAD IN GADARPUR WML	UDHAM SINGH NAGAR	REGULAR	100	ОВС	DC	35	35	1225	25	45	Draw of Lots	15	4
100	BETWEEN NEPALI FARM CHOWK AND LAL TAPAD ON NH-72 AT RHS	DEHRADUN	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
101	BETWEEN KM STONE 168 TO 173 ON NH-72	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
102	BETWEEN CHATUWA PEPAL & KARNPRAYAG ON NH-58	CHAMOLI	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
103	PIPALKOTHI ON NH-58	CHAMOLI	REGULAR	150	ОВС	DC	20	20	400	25	75	Draw of Lots	15	4
104	BETWEEN ISBT CHOWK & KARGI CHOWK ON NH-72	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
105	BIRAHI ON NH-58	CHAMOLI	REGULAR	150	Open CC 1	DC	20	20	400	25	75	Draw of Lots	15	5
106	MAITHANA ON NH-58	CHAMOLI	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
107	BETWEEN KARNPRAYAG & KALESHWAR ON NH-58	CHAMOLI	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
108	FROM JEEVANWALA-DEHRADUN ROAD TO HARIDWAR BYE-PASS ROAD ON MATA MANDIR ROAD	DEHRADUN	REGULAR	175	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
109	FROM HARIDWAR BYE-PASS ROAD TO KEDARPUR CHOWK ON MOTHOROWALA ROAD	DEHRADUN	REGULAR	195	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
110	LANGASU ON NH-58	CHAMOLI	REGULAR	150	ОВС	DC	20	20	400	25	75	Draw of Lots	15	4
111	FROM JEEVANWALA-DEHRADUN ROAD TO HARIDWAR BYE-PASS	DEHRADUN	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
112	ROAD ON MOTHOROWALA ROAD FROM RISPANA BRIDGE TO IIP RAILWAY CROSSING ON NH-72	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
113	ON RING ROAD FROM JOGIWALA TO LADPUR, DEHRADUN	DEHRADUN	REGULAR	190	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
114	BETWEEN KARGI CHOWK & RISPANA BRIDGE ON NH-72	DEHRADUN	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
115	BETWEEN KM STONE 159 TO 163	DEHRADUN	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of	0	3
116	ON NH-707  BETWEEN FOUNTAIN CHOWK &  DOBHAL CHOWK, DEHRADUN VIA	DEHRADUN	REGULAR	175	OPEN	DC	20	20	400	25	60	Lots Draw of	15	5
	DHARAMPUR -NEHRU GRAM ROAD				5. 2.14				.00			Lots		

117	BETWEEN KM STONE 223 TO 228 ON NH-58 AT L.H.S	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
118	BETWEEN IIP RAILWAY CROSSING & MIYANWALA CHOWK ON NH- 72	DEHRADUN	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
119	BETWEEN UTTRANCHAL DENTAL & MEDICAL RESEARCH INSTITUTE TO JEEVANWALA ON LHS ON NH- 72	DEHRADUN	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
120	BETWEEN KM STONE 222 TO 227 ON NH-58 AT R.H.S	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
121	FROM KARGI CHOWK TO MOTHOROWALA ROAD ON BANJARWALA KARGI ROAD, DEHRADUN	DEHRADUN	REGULAR	175	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
122	BETWEEN SHYAMPUR POLICE CHOWKI & NATRAJ CHOWK ON CHETRA ROAD, WITHIN RISHIKESH WML	DEHRADUN	REGULAR	155	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
123	BETWEEN KM STONE 339 TO 344 ON NH -58	PAURI GARHWAL	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
124	BETWEEN NEPALI FARM CHOWK & SHANTI KUNJ ON NH-58	DEHRADUN	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
125	BETWEEN MIYANWALA CHOWK TO HATHIKHANA CHOWK ON RAIPUR-TUNWALA ROAD	DEHRADUN	REGULAR	185	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
126	BETWEEN KM STONE 272 TO 275 ON NH -119	PAURI GARHWAL	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
127	BETWEEN KM STONE 75 TO 78 ON SH-37 (MAYALI-GUPTKASHI MARG)	RUDRAPRAY AG	REGULAR	100	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
128	WITHIN 2 KM FROM VILLAGE BAIJRO, ON SH 32	PAURI GARHWAL	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
129	KALYASAUR ON NH-58	PAURI GARHWAL	REGULAR	150	ОВС	DC	20	20	400	25	75	Draw of Lots	15	4
130	BETWEEN KM STONE 68 TO 72 ON NH-309	PITHORAGA RH	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
131	DUGADDA ON NH-534	PAURI GARHWAL	REGULAR	150	Open CC 1	DC	20	20	400	25	75	Draw of Lots	15	5
132	PATHISAIN TO JWALPA DEVI MANDIR ON NH-534	PAURI GARHWAL	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
133	SRINAGAR ON NH - 58	PAURI	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of	0	3
134	BETWEEN KM STONE 109 TO 112	GARHWAL BAGESHWA	REGULAR	150	OPEN	DC	20	20	400	25	75	Lots Draw of	15	5
135	ON NH-309 A BETWEEN PANCHAKKI CHAURAHA HALDWANI TO CALTEX CHAURAHA KATHGODAM, WITHIN HALDWANI WML BETWEEN KUSUMKHERA	NAINITAL	REGULAR	100	OPEN	DC	20	20	400	25	45	Lots  Draw of Lots	15	5
136	CHAURAHA TO LAMACHUAR CHAURAHA ON KAMALUAGANJA ROAD WITHIN HALWANI WML	NAINITAL	REGULAR	100	OBC	DC	35	35	1225	25	45	Draw of Lots	15	4
137	DUGRI PANTH ON NH-58	PAURI GARHWAL	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
138	BETWEEN NAVEEN MANDI HALDWANI TO KATHGODAM RAILWAY STATION ON NAINITAL ROAD ON NH-87	NAINITAL	REGULAR	100	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
139	BETWEEN HALDWANI BUS STATION TO MANPUR POORAB ON NH-87	NAINITAL	REGULAR	100	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
140	BETWEEN JHANKAT CHAURAHA TO KHATIMA CHAURAHA ON NH- 125	UDHAM SINGH NAGAR	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
141	FROM PAVDHOI CHOWK TO TRIMURTI TIRAHA, HARIDWAR, WITHIN WML	HARIDWAR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
142	BETWEEN KM STONE 243 TO 246 ON NH-09	UDHAM SINGH NAGAR	REGULAR	150	SC CC	CFS	35	45	1575	0	0	Draw of Lots	0	3
143	KM STONE 18 TO 23 ON NH-109	NAINITAL	REGULAR	150	Open CC2	DC	20	20	400	25	75	Draw of Lots	15	5
144	BETWEEN KM STONE 10 TO 15 ON NH-87E(NEW NH-109)	NAINITAL	REGULAR	150	OBC CC 1	DC	20	20	400	25	75	Draw of Lots	15	4
145	BETWEEN RAMPUR CHUNGI TO NAGAR NIGAM OFFICE ON RAMPUR ROAD IN ROORKEE CITY	HARIDWAR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
146	BERINAG ON NH-309A	PITHORAGA RH	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
147	VILLAGE: KUSMAUT ON SHAKTI FARM-BABANPURI ROAD WITHIN SHAKTIGARH MUNICIPAL LIMITS	UDHAM SINGH NAGAR	REGULAR	100	ОВС	DC	35	35	1225	25	45	Draw of Lots	15	4
148	BETWEEN NEHRU STADIUM TO NEW CANAL BRIDGE IN ROORKEE CITY	HARIDWAR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5

149	WITHIN 2 KM FROM RAMNAGAR CHOWK TOWARDS SALEMPUR IN ROORKEE CITY	HARIDWAR	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
150	BETWEEN PAHNIYA CHAURAHA TO KHATIMA CHOWK NH 125	UDHAM SINGH NAGAR	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
151	BETWEEN KM STONE 228 TO 231 ON NH-09	UDHAM SINGH NAGAR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
152	FROM CHANDICHOWK TO DHUDARI CHOWK ON NH-58	HARIDWAR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
153	FROM SHANTI KUNJ TO DHUDARI CHOWK ON NH-58	HARIDWAR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
154	BETWEEN NAVEEN MANDI CHAURAHA TO TRANSPORT NAGAR CHAURAHA ON MANDI BYPASS ROAD, WITHIN HALDWANI CITY	NAINITAL	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
155	NAINITAL CITY WITHIN MUNICIPAL LIMITS ON NH-109	NAINITAL	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
156	BETWEEN SINGHDWAR TO DESHRAKASHAK TIRAHA ON NH- 334 A (HARIDWAR-LAKSAR ROAD)	HARIDWAR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
157	WITHIN LAKSAR NAGAR PALIKA LIMIT	HARIDWAR	REGULAR	100	Open CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
158	BETWEEN KM STONE 193 TO KM STONE 201 ON NH 125 (NEW NH 09)	PITHORAGA RH	REGULAR	150	ОВС	DC	20	20	400	25	75	Draw of Lots	15	4
159	VILLAGE HALDUA ON KICCHA TO SITARGANJ ROAD ON NH-09	UDHAM SINGH NAGAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
160	BETWEEN JURSE COUNTRY TO BHADRABAD BYE PASS TIRAHA ON NH-58	HARIDWAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
161	WITHIN 3 KM AT LHS FROM PATANJALI FOOD AND HERBAL PARK MAIN GATE TOWARDS LAKSAR ON NH-334A	HARIDWAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
162	VILLAGE GOVINDPUR ON KICCHA TO SITARGANJ ROAD ON NH-09	UDHAM SINGH NAGAR	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
163	BETWEEN KM STONE 36 TO 39 ON NH 334A	HARIDWAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
164	VILLAGE GARAD (DEVINAGAR), PATTI KALETI ON NH309A (THAL- MUNSYARI ROAD)	PITHORAGA RH	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
165	CHAITI CHAURAHA TO KUNDESHWARI CHAURAHA	UDHAM SINGH NAGAR	REGULAR	110	OPEN	DC	35	35	1225	25	45	Draw of Lots	15	5
166	SITARGANJ CITY WITHIN MUNICIPAL LIMITS ON NH-09	UDHAM SINGH NAGAR	REGULAR	150	ОВС	DC	20	20	400	25	75	Draw of Lots	15	4
167	WITHIN 2 KM OF KANDISAUR INDUSTRIAL AREA ON NH-34	TEHRI GARHWAL	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
168	BETWEEN KM STONE 237 TO 240 ON NH-09	UDHAM SINGH NAGAR	REGULAR	150	ST PH	CFS	35	45	1575	0	0	Draw of Lots	0	3
169	KM MILESTONE 46 TO 49 ON NH	NAINITAL	REGULAR	150	OBC PH	DC	20	20	400	25	75	Draw of Lots	15	4
170	FROM COER COLLEGE TOWARDS MANGLORE ON ROORKEE BY PASS ROAD AT LHS ON NH-334	HARIDWAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
171	FROM MANGLORE TOWARDS COER COLLEGE ON ROORKEE BY PASS ROAD AT LHS ON NH-334	HARIDWAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
172	FROM GAZIWALI TO CHANDI CHOWK ON NH-74	HARIDWAR	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
173	FROM KATARPUR TO PHERUPUR DEGREE COLLEGE ON NH-334 A	HARIDWAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
174	WITHIN NAGAR PALIKA MANGLORE CITY ON NH-334	HARIDWAR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
175	ON KICHCHA BYE-PASS ROAD IN RUDRAPUR CITY	UDHAM SINGH NAGAR	REGULAR	140	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
176	ON SUGAR MILL ROAD IN KASHIPUR CITY	UDHAM SINGH NAGAR	REGULAR	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
177	LAKSAR OVERBRIDGE TO BIRLA TYRE FACTORY ON NH-334 A	HARIDWAR	REGULAR	150	sc	CFS	20	20	400	0	0	Draw of Lots	0	3
178	BAHERI ON NH-74 (NEW NH-734)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
179	BETWEEN MUKHANI CHAURAHA TO PANCHAKKI CHAURAHA ON NAHAR WALI ROAD, WITHIN HALDWANI WML	NAINITAL	REGULAR	145	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
180	BETWEEN VILLAGE CHAKARPUR TO VILLAGE KHANPUR ON NEW	UDHAM SINGH	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

	NH309 (EITHER SIDE)	NAGAR												
181	BHUPATWALA TO NH-58 ON CONNECTING ROAD, WITHIN HARIDWAR WML	HARIDWAR	REGULAR	110	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
182	BETWEEN GOPALNAGAR TO GULARBHOJ ON GADARPUR- GULARBHOJ ROAD, WITHIN GODARPUR WML	UDHAM SINGH NAGAR	REGULAR	110	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
183	BETWEEN RAMPUR CHUNGI TO GANESHPUR BRIDGE ON NH-344 IN ROORKEE CITY	HARIDWAR	REGULAR	150	Open CC 1	DC	20	20	400	25	75	Draw of Lots	15	5
184	WITHIN 3 KM FROM PUHANA TOWARDS BHAGWANPUR ON NH-344	HARIDWAR	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
185	ON GADARPUR BYPASS (LHS TO KASHIPUR) ON NEW NH-309(OLD NH-74)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
186	FROM SALIYAR TOWARDS MANGLORE ON ROORKEE BY PASS ROAD AT LHS ON NH-344	HARIDWAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
187	VILLAGE : SIROLIKALA , ON DARAU -KICCHA ROAD, WITHIN KICCHA WML	UDHAM SINGH NAGAR	REGULAR	145	OPEN	DC	35	35	1225	25	45	Draw of Lots	15	5
188	FROM MANGLORE TOWARDS SALIYAR ON ROORKEE BY PASS ROAD AT LHS ON NH-344	HARIDWAR	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
189	KASHIPUR TO PEERUMADARA ON NH-121(RHS)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
190	ON KELAKHEDA BYPASS ROAD LHS TO KASHIPUR ON NH-309	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
191	BETWEEN PATANJALI MAIN GATE TO COER COLLEGE MAIN GATE TOWARDS ROORKEE ON NH-334 AT RHS	HARIDWAR	REGULAR	150	SC CC	CFS	35	45	1575	0	0	Draw of Lots	0	3
192	FROM ROORKEE BUS STAND TOWARDS HARIDWAR ON NH- 334 WITHIN ROORKEE CITY	HARIDWAR	REGULAR	150	OBC CC 1	DC	20	20	400	25	75	Draw of Lots	15	4
193	ON KASHIPUR BYE-PASS ROAD IN RUDRAPUR CITY	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
194	BETWEEN INDIRA CHOWK, RUDRAPUR TO LALPUR ON NH-09 AT RHS	UDHAM SINGH NAGAR	REGULAR	150	Open PH	DC	35	45	1575	25	75	Draw of Lots	15	5
195	BETWEEN MAHARANA PRATAP CHOWK, KASHIPUR TO CHAITI CHAURAHA, KASHIPUR ON NH-74	UDHAM SINGH NAGAR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
196	BETWEEN NARAINPUR TO SUBHASH CHOWK, JASPUR ON NH-74	UDHAM SINGH NAGAR	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
197	ON NEW NH-734 ON JASPUR BYE- PASS(LHS TO HARIDWAR)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
198	ON GADARPUR BYPASS (RHS TO KASHIPUR) ON NEW NH-309(OLD NH-74)	UDHAM SINGH NAGAR	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
199	INDIRA CHOWK RUDRAPUR TO NAGLA ON NEW NH-109(EITHER SIDE)	UDHAM SINGH NAGAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
200	ON NEW NH-734 ON KASHIPUR BYE-PASS(LHS TO HARIDWAR)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
201	BETWEEN JHAGADPURI TO KELAKHEDA(EITHER SIDE) ON NH- 309	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
202	BETWEEN VILLAGE DORAHA TO VILLAGE KANORI(LHS) ON NH-309	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
203	ON KELAKHEDA BYPASS ROAD RHS TO KASHIPUR ON NH-309	UDHAM SINGH NAGAR	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
204	KUNDA CHAURAHA TO JASPUR CITY ON NH-74(EITHER SIDE)	UDHAM SINGH NAGAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
205	PEERUMADARA TO RAMNAGAR ON NH-121(RHS)	NAINITAL	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
206	ON NEW NH-734 ON JASPUR BYE- PASS(RHS TO HARIDWAR)	UDHAM SINGH NAGAR	REGULAR	150	Open CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
207	ON NEW NH-734 ON KASHIPUR BYE-PASS(RHS TO HARIDWAR)	UDHAM SINGH NAGAR	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
208	WITHIN KASHIPUR CITY MUNICIPAL LIMITS ON NH-121	UDHAM SINGH NAGAR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
209	RUDRAPUR CITY WITHIN MUNICIPAL LIMITS	UDHAM SINGH NAGAR	REGULAR	160	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5

210	BETWEEN INDIRA CHOWK RUDRAPUR TO KHANPUR VILLAGE(EITHER SIDE) ON NH-309	UDHAM SINGH NAGAR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
211	INDIRA CHOWK RUDRAPUR TO RAMPUR ROAD IN RUDRAPUR CITY ON NH-87(NEW NH109)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
212	VILLAGE LALPUR ON NH-09	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
213	PEERUMADARA TO RAMNAGAR ON NH-121(LHS)	NAINITAL	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
214	RAMNAGAR TO GARJIA ON NH- 121	NAINITAL	REGULAR	150	ОВС	DC	20	20	400	25	75	Draw of Lots	15	4
215	HYDEL GATE TO KATHGODAM ON NAHARWALI ROAD IN HALDWANI CITY	NAINITAL	REGULAR	155	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
216	VILLAGE MASIT ON NEW NH-309	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
217	BETWEEN AUGUSTMUNI & KUND ON NH-107	RUDRAPRAY	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
218	WITHIN 2 KMS FROM JASPUR ON JASPUR AFJALGARH ROAD ON NH- 74(OLD)	UDHAM SINGH NAGAR	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
219	BAZPUR TO KESHOWALA ON RAMRAJ ROAD, WITHIN BAZPUR WML	UDHAM SINGH NAGAR	REGULAR	180	OPEN	DC	35	35	1225	25	45	Draw of Lots	15	5
220	INSIDE INDUSTRIAL INTEGRATED ESTATE, PANTNAGAR (SIDCUL RUDRAPUR).	UDHAM SINGH NAGAR	REGULAR	180	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
221	RAMNAGAR CITY WITHIN MUNICIPAL LIMIT	NAINITAL	REGULAR	160	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
222	PITHORAGARH CITY WITHIN MUNICIPAL LIMITS	PITHORAGA RH	REGULAR	180	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
223	BWTWEEN KM STONE 32 TO 34 ON SH-41	NAINITAL	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
224	VILLAGE BICHPURI ON NH- 309(EITHER SIDE)	UDHAM SINGH NAGAR	REGULAR	170	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
225	BETWEEN VILLAGE RICHCHHA TO VILLAGE KHANPUR ON NEW NH- 309(EITHER SIDE)	UDHAM SINGH NAGAR	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
226	BETWEEN KM STONE 22 TO 25 ON NH-125	UDHAM SINGH NAGAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
227	VILLAGE SANDKHERA(NEAR IGL, KASHIPUR) ON OLD NH- 74	UDHAM SINGH NAGAR	REGULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
228	BETWEEN KM STONE 15 TO 17 ON NH-125	UDHAM SINGH NAGAR	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
229	WITHIN 2 KM OF NALAPANI CHOWK ON MAIN SHASTRADHARA ROAD	DEHRADUN	REGULAR	175	ОВС	DC	20	20	400	25	60	Draw of Lots	15	4
230	WITHIN SELAQUI INDUSTRIAL AREA NOT ON NH	DEHRADUN	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
231	BETWEEN SINGHDWAR TO JURSE COUNTRY ON NH-58	HARIDWAR	REGULAR	150	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
232	PATANJALI YOG PEETH TO BHADRABAD BYE PASS TIRAHA ON NH-58	HARIDWAR	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
233	WITHIN KICCHA TOWN MUNICIPALITY LIMITS NOT ON NH/SH	UDHAM SINGH NAGAR	REGULAR	110	Open CC 1	DC	35	35	1225	25	45	Draw of Lots	15	5
234	VILLAGE-CHALTHI ON NH-09	CHAMPAWA T	REGULAR	160	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
235	BETWEEN KM STONE 28 TO 31 ON NH-109	NAINITAL	REGULAR	160	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
236	BETWEEN KM STONE 78 TO 82 ON NH-109	ALMORA	REGULAR	150	ОВС	DC	20	20	400	25	75	Draw of Lots	15	4
237	BETWEEN KUMOR TO NERA ON DHARCHULLA ROAD WITHIN PITHORAGARH TOWN LIMITS ON NH-09	PITHORAGA RH	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
238	BETWEEN KATHGODAM RAILWAY STATION TO POLICE STATION, KATHGODAM ON NH- 87	NAINITAL	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
239	VILLAGE-PETSHAL ON NH-309 B	ALMORA	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
240	BETWEEN KM STONE 18 TO 21 ON NH 334 A	HARIDWAR	REGULAR	150	ОВС	DC	35	45	1575	25	75	Draw of Lots	15	4
241	WITHIN SIDCUL HARIDWAR	HARIDWAR	REGULAR	180	OPEN	DC	30	30	900	25	45	Draw of Lots	15	5
242	SINGHDWAR TO ROTARY DHARMSHALA CHOWK ON NH-58	HARIDWAR	REGULAR	150	Open CC 2	DC	20	20	400	25	75	Draw of Lots	15	5
243	BHAGATSINGH CHOWK TO CHINMAYA DEGREE COLLEGE, SHIWALIK NAGAR, WITHIN	HARIDWAR	REGULAR	100	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4

	HARIDWAR WML													
244	WITHIN JASPUR MUNICIPAL LIMITS ON JASPUR PATRAMPUR ROAD	UDHAM SINGH NAGAR	REGULAR	100	SC CC	CFS	20	20	400	0	0	Draw of Lots	0	3
245	FROM KEDARPUR CHOWK TO MOTHROWALA POST OFFICE ON MOTHOROWALA ROAD	DEHRADUN	REGULAR	195	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
246	WITHIN BHAGWANPUR NAGAR PANCHYAT ON CHUDIYALA ROAD	HARIDWAR	REGULAR	100	OPEN	DC	35	35	1225	25	45	Draw of Lots	15	5
247	WITHIN KASHIPUR CITY MUNICIPAL LIMITS ON KASHIPUR -DARHIYAL ROAD	UDHAM SINGH NAGAR	REGULAR	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
248	WITHIN JASPUR MUNICIPAL LIMITS ON JASPUR THAKUDWARA ROAD	UDHAM SINGH NAGAR	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
249	WITHIN BHAGWANPUR NAGAR PANCHYAT ON SIKRODA ROAD	HARIDWAR	REGULAR	100	OPEN	DC	35	35	1225	25	45	Draw of Lots	15	5
250	VILLAGE- KATTAYA ON MAHUAKHEDAGANJ-DARHIYAL ROAD, TEHSIL KASHIPUR	UDHAM SINGH NAGAR	Rural	75	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
251	VILLAGE- PARMANANDPUR ON PARMANANDPUR TO LOHIYA PUL LINK ROAD, TEHSIL KASHIPUR	UDHAM SINGH NAGAR	Rural	75	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
252	VILLAGE- MADNAPUR ON DINESHPUR-GULARBHOJ ROAD, TEHSIL GADARPUR	UDHAM SINGH NAGAR	Rural	60	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
253	VILLAGE-RAHMATPUR MUSTEHKAM ON COER COLLEGE TO KALIYAR ROAD, TEHSIL ROORKEE	HARIDWAR	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
254	VILLAGE-DUNGA , ON DUNGA ROAD, TEHSIL VIKASNAGAR	DEHRADUN	Rural	55	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
255	VILLAGE- BHARAUNI ,SISAIKHERA TO SADHU NAGAR ROAD, TEHSIL SITARGANJ	UDHAM SINGH NAGAR	Rural	55	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
256	VILLAGE- SUBHASHGARH ON JWALAPUR-LAKSAR ROAD, TEHSIL HARIDWAR	HARIDWAR	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
257	VILLAGE-JATONWALA ON SHIMLA BYE PASS ROAD, TEHSIL VIKASNAGAR	DEHRADUN	Rural	55	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
258	VILLAGE-BIDHOLI ON NANDA KI CHAWKI-PALAWALI-MAJHUN ROAD, TEHSIL VIKASNAGAR	DEHRADUN	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
259	VILLAGE-NAKIBPUR URF GHOSIPURA ON MUDLANA ROAD, TEHSIL ROORKEE	HARIDWAR	Rural	46	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
260	VILLAGE- SABHAWALA ON SHIMLA BYE PASS ROAD, TEHSIL VIKASNAGAR	DEHRADUN	Rural	48	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
261	VILLAGE-ALIPUR IBRAHIMPUR ON BHADRABAD-ALIPUR SARAI ROAD, TEHSIL HARIDWAR	HARIDWAR	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
262	VILLAGE- GUSAIPUR ON CHANDNICHOWK TO PREMPUR LOSHGYANI ROAD, TEHSIL HALDWANI	NAINITAL	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
263	VILLAGE- JORASI MUSTEHKAM ON LANDHAURA TO BADADHI RAJPUTAN ROAD, TEHSIL ROORKEE	HARIDWAR	Rural	48	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
264	VILLAGE - CHANDMARI MARKHAM GRANT ON DUDHLI ROAD, TEHSIL DOIWALA	DEHRADUN	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
265	VILLAGE-SAHIYA, ON SAHIYA- MAKHTI ROAD, TEHSIL KALSI	DEHRADUN	Rural	48	ST	CFS	20	20	400	0	0	Draw of Lots	0	2
266	VILLAGE- LATHERDEVA HUN ON MANGLOUR TO JHABRERA ROAD, TEHSIL ROORKEE	HARIDWAR	Rural	46	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
267	VILLAGE-HALDU POKHRA NAYAK	NAINITAL	Rural	55	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
268	MORI BAZAR, UTTARKASHI, TEHSIL MORI	UTTARKASHI	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
269	VILLAGE-BUKKANPUR ON LAKSAR-JWALAPUR ROAD, TEHSIL LAKSAR	HARIDWAR	Rural	47	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
270	VILLAGE- LAKESWARI ON LAKESWARI SIKANDERPUR ROAD , TEHSIL BHAGWANPUR	HARIDWAR	Rural	46	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
271	VILLAGE - MAUN ON NEELKANTH ROAD, TEHSIL YAMKESHWAR	PAURI GARHWAL	Rural	50	Open	DC	20	20	400	12	30	Draw of Lots	5	4
272	VILLAGE - MOHAMMADPUR BARKALI ON DUDHLI ROAD, TEHSIL DOIWALA	DEHRADUN	Rural	50	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
273	VILLAGE- SULTANPUR MAZRI, WITHIN 2 KM FROM BHADRABAD CANAL BRIDGE TOWARDS RAWALI MEHDOOD VIA	HARIDWAR	Rural	96	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

	BHADRABAD -BHEL GATE NO. 6 TIRAHA -RAWALI MEHDIOOD ROAD, TEHSIL HARIDWAR													
274	VILLAGE - KESHARWALA ON THEVA-MALDEVTA ROAD, TEHSIL DEHRADUN	DEHRADUN	Rural	50	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
275	WITHIN 3 KM ON EITHER SIDE OF VILLAGE- LAMRIDHAR ON TEHRI- DEVPRYAG ROAD, TEHSIL JAKHNIDHAR	TEHRI GARHWAL	Rural	51	Open	DC	20	20	400	12	30	Draw of Lots	5	4
276	VILLAGE- DHEEMERKHEDA, TEHSIL KASHIPUR	UDHAM SINGH NAGAR	Rural	55	Open CC 2	DC	35	35	1225	12	30	Draw of Lots	5	4
277	VILLAGE- DHAKIA ON JURKHA- KUNDESHWARI ROAD, TEHSIL KASHIPUR	UDHAM SINGH NAGAR	Rural	60	OBC CC 1	DC	35	35	1225	12	30	Draw of Lots	5	3
278	VILLAGE- KIRSALI ON SAHASTRADHARA ROAD, TEHSIL DEHRADUN	DEHRADUN	Rural	60	SC CC	CFS	35	35	1225	0	0	Draw of Lots	0	2
279	VILLAGE - THANO ON THANO ROAD, TEHSIL RISHIKESH	DEHRADUN	Rural	55	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
280	VILLAGE-RAWALI MEHDOOD ON 45 MTR WIDE SIDCUL- BHADRABAD -DELHI ROAD , TEHSIL HARIDWAR	HARIDWAR	Rural	84	Open	DC	30	30	900	12	30	Draw of Lots	5	4
281	VILLAGE - GHAT, TEHSIL KARNPRAYAG	CHAMOLI	Rural	80	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
282	VILLAGE- BHINDARA ON MAJHOLA TO BIZTI ROAD, TEHSIL KHATIMA	UDHAM SINGH NAGAR	Rural	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
283	VILLAGE-SALEMPUR MEHDOOD-2 ON BHADRABAD-SIDCUL- ROAD, TEHSIL HARIDWAR	HARIDWAR	Rural	84	Open	DC	30	30	900	12	30	Draw of Lots	5	4
284	VILLAGE-TASHIPUR ON ASHAFNAGAR TO IQBALPUR ROAD, TEHSIL ROORKEE	HARIDWAR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
285	VILLAGE- KARAYALPUR CHATURSINGH ON DEWALCHAUR ROAD, TEHSIL HALDWANI	NAINITAL	Rural	50	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
286	VILLAGE- JHDIYAN GRUNT ON KALIYAR TO BUGGAWALA ROAD, TEHSIL BHAGWANPUR	HARIDWAR	Rural	46	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
287	VILLAGE- KARGHARA , TEHSIL NANAKMATTA	UDHAM SINGH NAGAR	Rural	55	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
288	VILLAGE- JAFARPUR ON DINESHPUR-JAFFARPUR ROAD, TEHSIL GADARPUR	UDHAM SINGH NAGAR	Rural	70	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
289	VILLAGE- HALDUA ON JAGATPUR PATTI(KUNDA CHAURAHA- SHYAMNAGAR ROAD), TEHSIL JASPUR	UDHAM SINGH NAGAR	Rural	50	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
290	VILLAGE- BAJWALPUR ON GORAPARAO ROAD, TEHSIL HALDWANI	NAINITAL	Rural	50	Open CC 1	DC	35	35	1225	12	30	Draw of Lots	5	4
291	VILLAGE- SHANTIPURI, TEHSIL KICHHA	UDHAM SINGH NAGAR	Rural	55	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
292	VILLAGE- SHAKTIFARM , TEHSIL SITARGANJ	UDHAM SINGH NAGAR	Rural	55	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
293	VILLAGE- UDAYPURI JURI BANDOBAST, TEHSIL RAMNAGAR	NAINITAL	Rural	85	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
294	VILLAGE- RAMPURA SAKAR ON PIPALIYA MUNDIYA MARG, TEHSIL BAZPUR	UDHAM SINGH NAGAR	Rural	75	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
295	VILLAGE-KANAKPUR , TEHSIL KICHHA	UDHAM SINGH NAGAR	Rural	50	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
296	VILLAGE- PIPALIYA ON PIPALIYA- SARKARA ROAD, TEHSIL BAZPUR	UDHAM SINGH NAGAR	Rural	65	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
297	VILLAGE- UMMEDPUR ON KANIYA-PEERUMADARA ROAD, TEHSIL RAMNAGAR	NAINITAL	Rural	70	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
298	VILLAGE- JOGIPURA, TEHSIL BAZPUR	UDHAM SINGH NAGAR	Rural	75	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
299	VILLAGE- SITABANI, TEHSIL RAMNAGAR VILLAGE- KUNDA ON KUNDA	NAINITAL UDHAM	Rural	55	ОВС	DC	20	20	400	12	30	Draw of Lots	5	3
300	CHAURAHA TO HARIYAWALA CHOWK ROAD, TEHSIL JASPUR VILLAGE- ANDKHERA ON	SINGH NAGAR UDHAM	Rural	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
301	DINESHPUR-JAFFARPUR ROAD, TEHSIL GADARPUR VILLAGE- SAKENIA ON	SINGH NAGAR UDHAM	Rural	70	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
302	GADARPUR-SAKENIA ROAD, TEHSIL GADARPUR	SINGH NAGAR	Rural	65	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
303	VILLAGE- NIRANJANPUR ON	HARIDWAR	Rural	50	OBC	DC	35	35	1225	12	30	Draw of	5	3

	SAHPUR- RAISI ROAD, TEHSIL LAKSAR				PH							Lots		
304	VILLAGE - BHALASVAGAAJ ON CHUDIYALA TO JHABRERA ROAD, TEHSIL BHAGWANPUR	HARIDWAR	Rural	46	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
305	VILLAGE- RANI NANGAL, TEHSIL BAZPUR	UDHAM SINGH NAGAR	Rural	65	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
306	VILLAGE-LUDHPURA ON JAGGANATHPUR -CHHOI ROAD, TEHSIL BAZPUR	UDHAM SINGH NAGAR	Rural	60	Open	DC	35	35	1225	12	30	Draw of Lots	5	4
307	VILLAGE-DHARMAWALA ON SHIMLA BYE PASS ROAD, TEHSIL VIKASNAGAR	DEHRADUN	Rural	55	ОВС	DC	35	35	1225	12	30	Draw of Lots	5	3
308	VILLAGE- AJEETPUR ON AJEETPUR GURUDWARA ROAD, TEHSIL KASHIPUR	UDHAM SINGH NAGAR	Rural	65	Open	DC	35	35	1225	12	30	Draw of Lots	5	4

# Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website <a href="https://www.petrolpumpdealerchayan.in">www.petrolpumpdealerchayan.in</a> and can be downloaded free of cost.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 24.12.2018.

Type of RO	Type of Site	Category	Applicatio n fee in Rs.	Type of RO	Type of Site	Category	Application fee in Rs.
Regular	CFS	SC/ST	3000	Rural	CFS	SC/ST	2500
ROs	CC	OBC	5000	ROs	CC	OBC	4000
	CC	Open	10000		CC	Open	8000
	DC	OBC	5000		DC	OBC	4000
	DC	Open	10000		DC	Open	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above.

The tenure of the dealership shall be for an initial period of 15 years and renewable every 1 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

Address Dehradun Divisional Office,

25 Nimbuwala, Garhi Cantt., Dehradun-248003, Uttarakhand Contact No: 0135-2750107

<sup>\*</sup> The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.